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Ch 7 Day 10 Solving Quadratic Equations by Graphing (7.3)

A quadratic FUNCTION is of the form
y = ax® + bx + c. To sglve a quadratic
function, means tofits

A quadratic EQUATION is of the form
ax? + bx + c= (. To solve a quadratic equation

means to find the[zeroslor the{roots pf the

graph. function.
GRAPHS have ntercep Functions have
X-INTERCEPTS _ZEROS
f)=(x-3)x-5)
I 3.0 (5.0) ALL REFER to the\SOLUTION bf the quadratic equation!! x=3,x=5 at y=0
143 z’. (
Example 1: Solve 3x’ —11x—4 =0 using graphing. (ie. Find the roots.)
y O ITn desmas,

Example 2:

Example 3:

pe 3x2-Ux -4
@ End x- indeecapts

z
Je= =93 o These aﬂjmr anSwas!
= (Solutem).
\¥= 73 ,x=v)
(3 Check Ty plagyiry in o egnaher.
x=4" 3(4)*-uy)-4=0
Find the zeroes for y=x?—x-20. 3 “"37-—(/;«/-:/1 ZZ
0 =0
)Qk/\ Alss Y=<y ..
-y < A<~
7= ©

What are the roots for x> —6x+9=07?
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Example 4: The manager at Suzie’s Fashion Store has determined that the function
R(x)=600—6x" models the expected weekly revenue, R. in dollars. from
sweatshits as the price changes. where x is the change in price. in dollars. What
price increase or decrease will result irf(no revenue;

Revenne R(nco

A Pn’o IN(reasSe o
s10 (ieyx=10) or
a pric decrese

%) chamy ™ ; )

P B w v S TR
w,?l r’."/+ ',‘—MA

reverve .

Example §: Solve 3x* —6x+5=2%(4-x) by graphing.

. Wend 3 =0
ekt {
22~ brdS = 8xX -2z

W/ML_.,émfk LH.S} 312-byis
. éya,)l\ R‘HS) 3,{.—27L

1-2;('— -3 -3X 21 ¢ . -1-1“ Z:&M.N-\U !F
Sx -14Y45 =0 where Hety hfeesect qre
T +H solytum ]

d esms ( 0442,2.39)
|

l’o\vz / \\ (2.39)3.9)

/

X = 0492
7 = 237
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Example 6: Lamont runs a boarding kennel for dogs. He wants to construct a rectangular play
space for the dogs. llsiuf fencing and an existing wall as one side of the
- = = OSSP
play space.

a. Write a function that describes the area. 4. of the play space in terms of any
WA v wall
w W &~ wid th
|  Ho-aw . eng i
b. Determine the number of possible widths for an area of:
rea
i. 250 m’
1i. 200 m’

iii. l;.l;;;,‘ ,Qy ” —QO' (‘l" Arln -
A < JX}L—\
= (qo-2w)W
= 70“‘-2”{

a) A“JS‘) 56 L3V = 40w --?w?‘ 'R(wn-& So i
259 2w k=0l

Jrar‘\ WM JSW’L‘A’ use I!

No Solutum!
(no g-indeccepk)

2
Magns impus,w + 3.44— q 2°m
f(a7 4rt4 with ‘/OM“F"'(’U.’

E> A'“ 209 => 0 = -t YPpw =200
G2 A width o] 200 4 fengihof »

Yu-2w = 40 -2(w)=90m 2
aill gt an ares of 200m

Assignment: Sec 7.3, p. 379, use desmos to solve: #5abc, 6abc, 7, 11, opt: 12.
OAz P 0= 2u? dqw=[s0 \
~

=S ) oR @ } llg/\r¥\>

J ) vf: 4/0-2{'5') .
l: "/3;:22";‘{) = YJ-32 S” sV m? l mjf /§0h\9

tll?m 30 |0

= 30m

%M{
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